Svenska Bridgeférbundet
Allsvenskan, div 3 match 5:1 2018-09-22

IMP 6ver faltet, 150 bord, 300 par. Antal brickor: 10.
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Namn

Jorgen Hirschfeldt - Klas Nilsson
Michael Nilsson - Tomas Gustavsson
Lisbeth Nilsson - Urban Lindberg
Pontus Karlsson - Michael Karlin
Mikael Johansson - Jonas Dawerstrand
Torsten Eriksson - Bengt Svedrell
Hakan Lindback - Carl-Erik Halling
Kent Hidsjo - Bo Flyme

Christian Méller - Lars-Goran Bertilsson
Patrik Elofsson - H.O. Thulin

Ingrid Molin - Rune Karlsson
Ann-Christin Ahlstrom - Dejana Sverker
Stefan Eksberg - Jan Larsson

Martin Gardrup - Johan Andersson
Héakan Jonasson - Mats Winges
Martin Johnsson - Jérgen Andersson
Ann-Charlotte Tranvik - Nils Karlsson
Goran Lidgren - Ronny Eriksson
Benny Karlsson - Jan Roos

Wojtek Erdt - Lars-Olof Karlsson

Hans Velin - Krister Ekudd

Ann Fagerberg - Lars Andersson
Sonny Arvidsson - Tord Nilsson

Hans Barkman - Enar Bergstrom
Hans Lovestig - Mikael Alexandersson
Dennis Stromstedt - Géran Forss
Roland Gyllenhammar - Peter Ventura
Jan-Olof Henriksson - Hugo Nilsson
Olle Vikstrom - Ann-Katrin Vikstrom
Mikael Hallin - Helen Uliczka

Thomas Peterson - Solweigh Andersson
Anders Ljungblad - Peter Nuoristo
Glenn Nilsson - Ronnie Lindahl

Tore Stormo - Fredrik Alfredsson

Kjell Berg - Kent Larsson

Johan Vikstrom - Richard Lundqvist
Per Dahlman - Roland Dahiman

Kjell Pettersson - Eva Blomberg
Simon Granath - Sofia Olofsson

Bo Grunander - Bjorn Ahim

Lars Lundqyvist - Lars Nilsson

Johan B. Lisra - Ake Rustad

Leif Karlsson - Per-Olof Kallio

Conny Gustafsson - Per Andersson
Andreas Kényves - Borje Rudenstal
Arne Klasén - Harriet Philipson

Kent Karlsson - Rolf Karlsen

Bo Lundgren - Boris Olsson

Berit Samuelsson - Géran Johansson
Joel Henriksson - Géte Nissinen
Christer Winther - Tommy Kellander
Jan Sundberg - Claes Scott

Jesper Rundin - Lars Kjellersson

Bertil Blomgvist - Leif Lindman

Peter Forsberg - Rolf Forsberg
Kenneth Backstrom - Géran Ryman
Jonas Segervald - Daniel Lundell

Olle Persson - Lars Becklén

Ragnar Johansson - Sune Gustafsson
Stefan Lilja - Peter Backstrand

Hans Norling - Bo Gullefors

Gunnar Dybeck - Gary Dybeck

Johan Singvall - Peter Alm

Bengt Hilling - Borje Johansson
Michael Hofverhagen - Sven Elfverson
Kurt Karlsson - Sixten Ek

Hakan Lindh - Peter Svensson
Rose-Marie Crossner - Annika Forsberg
Asa Axne - Pernilla Nas

Annika Sandberg - Rolf Israelsson

Bo Gustavsson - Sonny Karlsson
Benny Olsson - Bengt Lindblom

Erling Lennartsson - Mats Olsson
Orjan Sjoberg - Per-Erik Mattsson
Bjorn Gunnarsson - Bengt-Ake Svensson
Christian Lundgren - Roger Flodstrand
Jonas Andersson - Arne Blomqvist
Gunnar Holmkuvist - Lisa Bergqovist
Mattias Jonsson - K-G Wanngard
Jerry Mahler - Ann Lidfors

Arne Karlsson - Tommy Lundvall
Marie Johansson - Bjoérn Davidsson
Maritha Jensen - Willy Carlsson

Per Laving - Anders Sdderstedt
Birgitta Wilhelmsson - Kerstin Wiberg
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Emil Tibblin - Staffan Hedman

Michael Olsson - Mats Norhager

Alf Putzen - Tommy Rydberg

Per-Enar Hedlund - Ingmar Andersson
Gote Olauson - Tony Lindblom
Thomas Ekendahl - Bengt-Ake Leskinen
Erika Rodin - Emanuel Unge
Hans-Olof Hallén - Magnus Wegestal
Thorbjérn Fredriksson - Allan Oberg
Jan Brannvall - Hans Lerner

Karola Hogberg - Lars Lilja

Mikael Johansson - Leif Nilsson
Thomas Hultgren - Christer Larsson
Ronny Schalin - Anders Silverbern
Kjell Ohlsson - Hans Johansson
Rose-Marie Jarl - Gunilla Ahlander
Lars Moquist - Stig Magnusson
Lennart Fredriksson - Torkel Petersson
Mattias Forss - Gun-Britt Rindstal
Goran Strom - Per Norberg

Jan Wistrom - Marie Ynner

Lars Malm - Per Lindstrom

Anders Landmark - Leif Lundberg
Bjorn Johansson - Lars Wallin

Leo Karttunen - Gunnar Géthberg
Christer Swenson - Susanne Friberg
Kjell Berndtsson - Jacob Kleiven
Tommy Petersson - Par Andersson
Bertil Jansson - Ake Eed-Jonsson

Jan Larsson - Kenneth Gollne

Anders Darle - Jan Lilja

Sture Ekberg - Evald Jensen

Peter Erhardsson - Lennart Rudander
Mats Allgéwer - Bjorn Wenander
Carina Larsson - Inger Hultstrand

Bo Wiker - Ake Fransson

Kenneth Fredriksson - Monica Nas

Per Fahraeus - Britt-Marie Warborn
Lars Forsberg - Emma Karlsson
Kenneth Hallgren - Csaba Balaspiri

Bo Jonsson - Goran Kullberg

Hans Gothe - Eva-Liss Gothe

Kent Lundstrom - Willy Hagstrom

Jan Ahlqgvist - Jan Konar

Lars-Goéran Blomkvist - Eva-Britt Blomkvist
Kerstin Ahlgren - Conny Lindquist
Stefan Budin - Tin Budin

Lars-Erik Johansson - Mikael Blomqvist
Erik Sjostrand - Hakan Johansson
Kenth Sandéhn - Sten Gustavsson
Gunnar Nilsson - Hakan Ottosson

Villy Havasi - Agneta Svenberg

Vera Gemrud - Per-Ingvar Skoglund
Jonas Larsson - Roland Svensson
Fredrik Larsson - Ann-Katrin Johansson
Thomas Axenbratt - Niclas Samuelsson
Kjell Andersson - Kurt Eklund

Hakan Arebrink - Jan Karlsen

Bengt Lindskog - Per Hult

Bengt-Olof Johansson - Sune Ldbo
Hans Sdderin - Ola Ostlund

Dan Johansson - Stefan Varjomaa
Torsten Runebert - Lennart Andersson
Thomas Therkelson - Jan Troberg

Jan Clementsson - Bonnie Clementsson
Mats Berggren - Yan Leger

Hakan Nilsson - Agneta Oppenstam

Ann-Cathrine Hagstrom-Blomqvist - Rolf Blomquist

Rawad Hadad - Eric Behm

Olle Axne - Ted Olows

Per Andersson - Bertil Persson

Mari Lindblom - Peter Swensson
Roger Grund - Anders Ihalainen
Petter Bengtsson - Mikael Westin
Anders Dellien - Hans Johansson
Odd Stokka - Ove Mattsson

Jan Ragneback - UIf Runze

Bengt Collryd - Lars Hermansson
Anders Aronson - Sven Landervik
Connie Friberg - Hans Friberg

Bengt Lennartsson - Morgan Kronlund
Sven Lindell - Alice Lindell

Leif Norman - Kjell Sedelius

Rikard Olofsson - Sofia Ryman
Marianne Melchior Ericson - Joakim Ericson
Jan Arne Heimdal - Ingrid Enberg
Henrik Carlsson - Clas-Olof Olofsson
Torgny Andersson - Conny Kling
Sven Fagrell - Ronny Blomdahl
Anders Eriksson - P-H Sundelin
Hannu Oikarainen - Anders Eriksson
Krister Persson - Maria Regnér Jonsson
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Svante Hallén - Christer Hedborg
Torsten Victorin - Rolf Bystrom

Bengt Andersson - Margot Sivelind
Jimmy Herrdin - Conny Svensson
Lennart Johansson - Petra Svantesson
Nina Bodin - Claes Bodin

Bengt Alrud - Bjorn Westling

Urban Mentzer - Hakan Stromberg
Tora Philip - UIf Nehlin

Miro Bakrac - Patrik Janertd

Gunnar Jacobsson - Hans Johansson
Hans Bogeskar - Stefan Lundh
Britt-Marie Lundqvist - Ake Bergman
Gunnar Lindell - Johnny lvarsson
Borje Brag - Hans Eriksson

Hans Molin - Stefan Andersson
Hakan Persson - Karl-Gustaf Larsson
Soren Axelsson - Bo Gisslander
Anders Enstrom - Leif Norén

Peter Kennerfalk - Leif Bergehammar
Bertil Tollbom - Thomas Brandell
Peter Morin - Rune Johansson
Nicklas Widhja - Robert Frank
Tomas Karlsson - Egon Henriksson
Micael Fredriksson - Wage Nilsson
UIf Backman - Karl-Otto Waara
Torbjorn Utterstrom - Hans Holmlund
Peter Sandodrn - Tomas Pettersson
Per Jansson - Kristian Karlsson

Lars Lundgren - Magnus Persson
Olle Persson - Lennart Fransson
Johan Héstad - Henrik Ludwigs

Rolf Staflund - Arne Lindqvist

Per Rask - Roger Larsson

Lennart Asplund - Annika Sundelin
Mathias Bedroth - Anders Arnesson
Per-Erik Pettersson - Lars-Ake Nilsson
Hans-Olov Gustafsson - Peter Strand
Lena Schullstrom - Bengt Karlsson
Sune Hallgren - Tommy Elingmark
Leif Lysebring - Lars Wallmark

Matti Johansson - Mats Modin

Sture Rundgren - Gabor Barath

Laila Pettersson - Arne Johansson
Zenon Grajek - Hernando Slottsdahl
Henrik Oldenburg - Esa Ryhénen
Jan Enarsson - Torleif Hagg

Agnete Friestedt - Frank Andersson
Kent Johansson - Bo Johansson

UIf Halvorsen - Carina Halvorsen
LarsGunnar Andersson - Ole J Jensen
Gunnar Longardh - Gunnel Svensson
Per Bratt - Nils Ingmar Thorell

Jonny Pahlsson - Per-Arne Friberg
Arne Hall - Haine Haraldsson

Kent Karlsson - Gert Bodén

Lennart Ekholm - Christer Astrém
Hakan Gustafsson - Leif Samuelsson
Lena Schalin - Monica Karlsson
Christer Olofsson - Elsa Persson
Hans Thorell - Christer Johansson
Erik Jirovsky - Mats Hollstrém

Mikael Jonsson - Jan-Erik Gresseth
Katarina Johansson - Stina Lysebring
Bo-Peter Bergman - Ove Alexandersson
Hakan Litsegard - Staffan Essén

UIf Henriksson - Anna-Mari Ohlén
Piotr Deyna - Jan Rudenstedt
Johnny Ramsten - Tommy Lindstrém
Jan Larsson - Britt-Lis Elf-Lantz
Gunnar Tunkrans - Joyce Fahlstad
Berith Abrahamsson - Ylva Abrahamsson
Fredrik Wickstrom - Kenneth Osterberg
Gullan Trydefeldt - Ulla von Schlanbusch
Johnny Petersson - Dan Johansson
Lars-Erik Moberg - Andrzej Luczynski
Bengt Lundberg - Kjell Glans
Lars-Ake Svensson - Jacob Westerberg
Thomas Falk - Ann-Christine Brask
Leif Sundqvist - Kent Sjoberg

Anna Skau - Jérgen Akesson

Monica Eriksson - Hakan Gabrielsen
Bo Lind - Paul Lundin

Anders Johansen - Per-Ake Jansson
Lars-Erik Nilsson - Leif-Ake Nilsson
Johan Wahlberg - Fredrik Wahlberg
Harry Magnil - Hans-Olov Stéllman
Tobias Bende - Lars Jansson

Anders Nilsen - Lennart Skold
Torbjorn Gullbrandson - Mats Ericson
Kenneth Hagman - Mats Gunnarsson
Marielle Dietrich - Stig Olausson
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270 H101 -1.67 Markus Hedstrom - Per Schullstrom 87082 28089
271 F103 -1.71 Mats Lindgren - Bertil Asplund 7759 11289
272 M204 -1.73 Anders Granstrom - Viking Sandas 91048 87783
273 ul -1.81 Thomas Kvist - Per Sdderberg 52995 18380
274 K5 -1.81 Tomas Sundstrom - Lennart Ostman 17338 36190
275 Q205 -1.85 Christoffer Jarnestrém - Anders Hansson 1977 47032
276 BB302 -1.86 Anders Svensson - Par Alvarsson 749 8885
277 Y203 -1.90 Hans Brolin - Jaenita Johansson 7596 7598
278 K1 -1.93 Torbjorn Sandbéck - Par Unander 70 12980
279 L103 -1.94 Stig Johansson - Sven-Ake Arvendahl 78428 5396
280 Q1 -1.94 Jaan Heinlo - Jan Geiborg 2171 12165
281 B104 -1.95 Lars-Olof Karlsson - Dennis Brorsson 89545 4227
282 C204 -1.97 Anette Maretics - Mickey Maretics 24689 50249
283 T305 -1.98 Olle Gustavsson - Tommie Ljungberg 11085 59949
284 BB101 -1.99 Ingegerd Lundgren - Roger Wahlgren 6961 12247
285 05 -2.03 Lars Jeppsson - Jan-Ake Ohlsson 449 5957
286 K4 -2.14 Leif Ernstsson - Leif Kjellberg 13674 10137
287 P104 -2.22 Cecilia Martensson - Per Myrbeck 10652 698
288 S201 -2.41 Per-Olov Térngvist - Gunder Persson 1862 7640
289 E204 -2.45 Rune Svensson - Pererik Akerberg 2635 2650
290 T103 -2.46 Tommy Andersen - Per-Olof Johansson 59227 59383
201 S202 -2.50 Jarl Hallberg - Gunnar Fransson 1648 7719
292 R104 -2.59 Lars-Inge Rehnstrom - Lena Lundqvist 6717 25982
293 Q3 -2.80 Ove Olofsson - Tomas Egneus 30296 22133
294 C1 -2.87 Lars Marjoniemi - Jérgen Lundberg 14508 7657
295 P303 -2.94 Osten Svantesson - Klas Bellander 5765 4541
296 G203 -3.08 Torbjorn Askernés - Andreas Skoglund 13922 23392
297 Gl -3.22 June Sandberg - Ingrid Skoglund 37801 3419
298 J301 -3.28 Hans Sunesson - Johan Hermansson 19287 28975
299 BB104 -3.41 Inge Nilsson - Karin Nilsson 18198 19523
300 G205 -4.34 Olle Einarsson - Maria Einarsson 64158 64159
1 « EKn8532 Basta kontrakt 2 « E1064 Basta kontrakt
Nord v 85 44 N =130 Ost vKn63 5v O =-450
Ingen ¢+ DKn NS + 106
#3854 & ¢ v & NT K643 & ¢ v &N
« D96 4 K107 N 105 6 8 8 483 & KKn N7 1283
vDKn72 vK1093 S 105 6 8 8 vEK872 vD5 S71283
¢E732 K984 038755 ¢ E8542 ¢ KD973 O 6 11115 8
#Kn2 »D9 V38755 &5 »D872 V 6 11115 8
a4 4 D9752
vE64 v 1094
¢ 1065 ¢+ Kn
#EK10763 #EKn109
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
W5 W205 44 N = vK 420 1155.0 -1155.0 K3 K203 5¢ O-1 a2 50 1408.0  -1408.0
D101 D301 3NO -4 *A 200 491.0 -491.0 V103 V303 6¢ O-1 43 50 1408.0 -1408.0
S1 S201 34 N+1 v9 170 369.0 -369.0 BC1 BC201 3¢ O +2 a5 -150 814.0 -814.0
Y4 Y204 24 N +2 *0Q 170 369.0 -369.0 11 1201 3¢ O +2 a2 -150 814.0 -814.0
15 1205 24 S +2 *J 170 369.0 -369.0 M1 M201 3¢ O +2 a4 -150 814.0 -814.0
B103 B303 24 N +2 *9 170 369.0 -369.0 A2 A202 3¢ O +2 a2 -150 814.0 -814.0
03 0203 4v O-3 a4 150 249.0 -249.0 G2 G202 2¢ O+3 a2 -150 814.0 -814.0
K4 K204 2NV -3 43 150 249.0 -249.0 C3 C203 2¢ O+3 a2 -150 814.0 -814.0
BD102 BD302 4v O-3 a4 150 249.0 -249.0 W3 W203 4¢ O +1 a2 -150 814.0 -814.0
BA1 BA201 24 S+1 *] 140 232.0 -232.0 E4 E204 3¢ O +2 a2 -150 814.0 -814.0
11 1201 24 N +1 *Q 140 232.0 -232.0 M4 M204 2¢ O +3 a2 -150 814.0 -814.0
A2 A202 24 N +1 ¢+ 4 140 232.0 -232.0 04 0204 2¢ O+3 a2 -150 814.0 -814.0
G2 G202 24 N+1 +8 140 232.0 -232.0 G5 G205 3¢ O +2 a2 -150 814.0 -814.0
12 1202 24 N +1 *9 140 232.0 -232.0 Q5 Q205 3¢ O +2 a2 -150 814.0 -814.0
Q2 Q202 24 N +1 *9 140 232.0 -232.0 N101 N301 4¢ O +1 a2 -150 814.0 -814.0
W2 W202 24 S+1 vQ 140 232.0 -232.0 B102 B302 3¢ O +2 45 -150 814.0 -814.0
Y2 Y202 24 S+1 *J 140 232.0 -232.0 L102 L302 3¢ O +2 a2 -150 814.0 -814.0
G3 G203 24 N +1 *Q 140 232.0 -232.0( BB103 BB303 3¢ O +2 a2 -150 814.0 -814.0
S3 S203 24 N +1 *0Q 140 232.0 -232.0 P103 P303 3¢ O +2 a7 -150 814.0 -814.0
U3 U203 24 N +1 +8 140 232.0 -232.0 F104 F304 3¢ O +2 a2 -150 814.0 -814.0
G4 G204 24 S+1 *Q 140 232.0 -232.0 T105 T305 4¢ O +1 a5 -150 814.0 -814.0
w4 W204 24 N +1 *0Q 140 232.0 -232.0 BA1 BA201 2¢ O +4 vT -170 759.0 -759.0
Q5 Q205 24 S+1 *J 140 232.0 -232.0 A4 A204 3¢ O +3 v9 -170 759.0 -759.0
F101 F301 34 N= *Q 140 232.0 -232.0 B101 B301 3¢ O +3 vT -170 759.0 -759.0
B102 B302 24 N +1 +8 140 232.0 -232.0 T104 T304 3¢ O+3 vT -170 759.0 -759.0
H103 H303 24 N +1 v9 140 232.0 -232.0 R103 R303 3¢ O +4 *J -190 696.0 -696.0
T103 T303 24 N +1 *Q 140 232.0 -232.0 C4 C204 3v V+2 aA -200 638.0 -638.0
BD104 BD304 24 N +1 v3 140 232.0 -232.0 J101 J301 3v V+2 4 A -200 638.0 -638.0
L104 L304 24 N +1 *4 140 232.0 -232.0 V102 V302 3v O +2 ¢J -200 638.0 -638.0
V104 V304 24 S+1 *A 140 232.0 -232.0| BD105 BD305 3v V +2 aA -200 638.0 -638.0
D105 D305 24 N +1 *Q 140 232.0 -232.0 o1 0201 5¢ V= 4 A -400 -34.0 34.0
L105 L305 24 S+1 ¢A 140 232.0 -232.0 Q1 Q201 5¢ O= a2 -400 -34.0 34.0
V105 V305 24 N +1 *Q 140 232.0 -232.0 S1 S201 5¢ O= 45 -400 -34.0 34.0
X105 X305 24 N +1 v3 140 232.0 -232.0 Ul U201 5¢ V= a2 -400 -34.0 34.0
K1 K201 3& S +1 46 130 217.0 -217.0 Y1 Y201 5¢ O= a5 -400 -34.0 34.0
S2 S202 24 S +2 vQ 130 217.0 -217.0 K2 K202 5¢ O= a7 -400 -34.0 34.0
u2 U202 34 S+1 vQ 130 217.0 -217.0 u2 U202 3NO= a4 -400 -34.0 34.0
Y3 Y203 3# S+1 vQ 130 217.0 -217.0 BA3 BA203 5¢ O= a2 -400 -34.0 34.0
BA4  BA204 24 S +2 vQ 130 217.0 -217.0 BC3 BC203 5¢ O= 45 -400 -34.0 34.0
K5 K205 3& S +1 vQ 130 217.0 -217.0 13 1203 5¢ O = a2 -400 -34.0 34.0
Ji01l J301 34 S+1 v2 130 217.0 -217.0 03 0203 5¢ O= *A -400 -34.0 34.0
J103 J303 3& S +1 vQ 130 217.0 -217.0 S3 S203 5¢ O= a4 -400 -34.0 34.0
7103 Z303 3& S +1 vQ 130 217.0 -217.0 u3 U203 5¢ O= a2 -400 -34.0 34.0
BD105 BD305 3# S +1 vQ 130 217.0 -217.0 BA4  BA204 5¢ O= *A -400 -34.0 34.0
Al A201 24 S= v2 110 83.0 -83.0 BC4 BC204 5¢ O= a2 -400 -34.0 34.0
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BB101 BB301 24 N-1 +8 -50 -525.0 525.0 T103 T303 3N O +2 a7 -460 -303.0 303.0
T101 T301 24 N-1 v6 -50 -525.0 525.0 BD104 BD304 3N O +2 a4 -460 -303.0 303.0
N102 N302 24 N-1 v3 -50 -525.0 525.0 D104 D304 3N O +2 a2 -460 -303.0 303.0
F103 F303 24 N-1 v9 -50 -525.0 525.0 L104 L304 3N O +2 a2 -460 -303.0 303.0
N103 N303 24 N-1 &0Q -50 -525.0 525.0 X104 X304 3N O +2 a5 -460 -303.0 303.0
N104 N304 3NN -1 v8 -50 -525.0 525.0 2104 7304 3N O +2 a2 -460 -303.0 303.0
T104 T304 24 N-1 *4 -50 -525.0 525.0 J105 J305 3N O +2 a7 -460 -303.0 303.0
H105 H305 24 N-1 v9 -50 -525.0 525.0 P105 P305 3N O +2 a5 -460 -303.0 303.0
J105 J305 24 N-1 v9 -50 -525.0 525.0 V105 V305 3N O +2 vT -460 -303.0 303.0
N105 N305 24 N-1 &Q -50 -525.0 525.0 X105 X305 3N O +2 a2 -460 -303.0 303.0

El E201 34 N -2 vT -100 -702.0 702.0 Z105 Z305 3N O +2 a5 -460 -303.0 303.0
J102 J302 24 N-2 *Q -100 -702.0 702.0 w2 W202 3¢ N-7 vQ -700 -1101.0 1101.0
BB103 BB303 3v V= &4 -140 -847.0 847.0 F103 F303 6¢ O= vT -920 -1634.0 1634.0
3 « EKD82 Basta kontrakt 4 & Kn52 Basta kontrakt
Syd v 1094 44 S =420 Vast v52 6v V =-1430
ov +5 Alla ¢ 107
&#KD92 & ¢ v & NT &#DKn10873 & ¢ v & NT
410653 &7 N9 9 9 109 4 E108 443 N51141
v E65 v KDKn7 S99 9 109 v 963 v EKKn87 S51141
¢ 843 + K762 033411 ¢ KKn642 ¢ E53 O 8 11128 10
#3854 &#Kn763 V13411 &K2 &E54 V 8 11128 10
& Kn94 & KD976
v 3832 vD104
+ EDKNn109 + D98
&E10 96
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
S1 S201 3NS+4 a5 520 498.0 -498.0 G5 G205 3NO-2 a7 200 1841.0 -1841.0
U5 U205 3N S +4 a5 520 498.0 -498.0 Al A201 4v O-1 &K 100 1738.0 -1738.0
C3 C203 4 S+3 +8 510 496.0 -496.0 BC1 BC201 3NO-1 «Q 100 1738.0 -1738.0
w3 W203 44 S+3 a4 510 496.0 -496.0 S2 S202 5v O-1 & K 100 1738.0 -1738.0
J101 J301 44 S+3 +8 510 496.0 -496.0 14 1204 3NO-1 &K 100 1738.0 -1738.0
D102 D302 44 S+3 +3 510 496.0 -496.0 04 0204 4v O-1 &K 100 1738.0 -1738.0
V104 V304 44 S +3 *2 510 496.0 -496.0 BB102 BB302 3N O -1 46 100 1738.0 -1738.0
X105 X305 3N S +3 LX) 490 366.0 -366.0 BD102 BD302 3NV - a2 100 1738.0 -1738.0
A2 A202 3N S+1 &3 430 81.0 -81.0 T105 T305 4v O-1 & K 100 1738.0 -1738.0
BAS BA205 3N S +1 &3 430 81.0 -81.0 L105 L305 3¢ O +3 &0 -170 1329.0 -1329.0
Al A201 44 N= vQ 420 76.0 -76.0 W5 W205 2v O +3 &K -200 1260.0 -1260.0
BA1 BA201 4 S= v5 420 76.0 -76.0 J101 J301 3v O +2 &9 -200 1260.0 -1260.0
BC1 BC201 4« N= vK 420 76.0 -76.0 T103 T303 3v O +2 & K -200 1260.0 -1260.0
Cl C201 44 N= vK 420 76.0 -76.0 H105 H305 3v O +2 &K -200 1260.0 -1260.0
El E201 4e N= vQ 420 76.0 -76.0 BA2 BA202 3NV = &Q -600 62.0 -62.0
11 1201 44 N= vK 420 76.0 -76.0 M2 M202 3NV = &Q -600 62.0 -62.0
o1 0201 44 N= vK 420 76.0 -76.0 E4 E204 5¢ V= *Q -600 62.0 -62.0
Q1 Q201 44 N= vK 420 76.0 -76.0 Y4 Y204 3NV = &Q -600 62.0 -62.0
Ul U201 44 N= vK 420 76.0 -76.0 BB101 BB301 3N O = a7 -600 62.0 -62.0
w1 W201 44 N= vK 420 76.0 -76.0 X101 X301 3NV= *Q -600 62.0 -62.0
Y1l Y201 44 N= vK 420 76.0 -76.0 R102 R302 3NV = &Q -600 62.0 -62.0
BA2 BA202 4e N= vK 420 76.0 -76.0 X104 X304 3NV= *0Q -600 62.0 -62.0
BC2 BC202 44 N= vK 420 76.0 -76.0 Z105 Z305 3NV = *Q -600 62.0 -62.0
Cc2 C202 4& N= vK 420 76.0 -76.0 K1 K201 4y O = & K -620 -56.0 56.0
G2 G202 44 N= vK 420 76.0 -76.0 Q1 Q201 4v O = & K -620 -56.0 56.0
12 1202 44 N = vK 420 76.0 -76.0 w1 W201 4y V= *Q -620 -56.0 56.0
M2 M202 44 N= vK 420 76.0 -76.0 A2 A202 4y O = &9 -620 -56.0 56.0
02 0202 44 N= vK 420 76.0 -76.0 BC2 BC202 4y O= & K -620 -56.0 56.0
Q2 Q202 44 N= vK 420 76.0 -76.0 BC3 BC203 4v O = «Q -620 -56.0 56.0
S2 S202 44 N= vK 420 76.0 -76.0 G3 G203 4v O = &9 -620 -56.0 56.0
U2 U202 4« S= vA 420 76.0 -76.0 03 0203 4v O = & K -620 -56.0 56.0
w2 W202 44 N= vK 420 76.0 -76.0 U3 U203 4v O = &K -620 -56.0 56.0
Y2 Y202 44 N= vK 420 76.0 -76.0 A4 A204 4v O = &K -620 -56.0 56.0
A3 A203 44 N= vK 420 76.0 -76.0 Q4 Q204 4v O = & K -620 -56.0 56.0
BC3 BC203 44 N= vK 420 76.0 -76.0 w4 W204 4y O = &K -620 -56.0 56.0
E3 E203 4e N= vK 420 76.0 -76.0 05 0205 4v V= a2 -620 -56.0 56.0
G3 G203 44 N= vK 420 76.0 -76.0 S5 S205 4v O = &9 -620 -56.0 56.0
13 1203 44 N= vK 420 76.0 -76.0 Y5 Y205 4y O = &K -620 -56.0 56.0
K3 K203 4e N= vK 420 76.0 -76.0 N101 N301 4v O= &K -620 -56.0 56.0
M3 M203 44 N= vK 420 76.0 -76.0 R101 R301 4y O= & K -620 -56.0 56.0
03 0203 44 N= vK 420 76.0 -76.0 Z101 Z301 4y O= &K -620 -56.0 56.0
Q3 Q203 44 N= vK 420 76.0 -76.0 B102 B302 4y O = «Q -620 -56.0 56.0
S3 S203 44 N= vK 420 76.0 -76.0 H102 H302 4y O = & K -620 -56.0 56.0
Y3 Y203 44 N= vK 420 76.0 -76.0 L102 L302 4y O = &K -620 -56.0 56.0
A4 A204 4e N= vK 420 76.0 -76.0 D103 D303 4v O = & K -620 -56.0 56.0
BA4  BA204 44 N= vK 420 76.0 -76.0 H103 H303 4y O = &9 -620 -56.0 56.0
BC4 BC204 44 N= vK 420 76.0 -76.0 R103 R303 4v O = &K -620 -56.0 56.0
C4 C204 4e& N= vK 420 76.0 -76.0 Z103 Z303 4y O = &K -620 -56.0 56.0
E4 E204 4e N= vK 420 76.0 -76.0 P104 P304 4y O = a7 -620 -56.0 56.0
14 1204 44 N = vK 420 76.0 -76.0 2104 7304 4y O = &K -620 -56.0 56.0
K4 K204 4e N= vQ 420 76.0 -76.0 BD105 BD305 4y O= &K -620 -56.0 56.0
M4 M204 44 N= vQ 420 76.0 -76.0 J105 J305 4y O = & K -620 -56.0 56.0
04 0204 44 N= vK 420 76.0 -76.0 V105 V305 4v O = &K -620 -56.0 56.0
Q4 Q204 44 N= vK 420 76.0 -76.0 El E201 3NV +1 & -630 -61.0 61.0
U4 U204 44 N= vK 420 76.0 -76.0 o1 0201 3NV +1 a2 -630 -61.0 61.0
w4 W204 44 S= vA 420 76.0 -76.0 12 1202 3N O +1 46 -630 -61.0 61.0
Y4 Y204 44 N= vK 420 76.0 -76.0 K2 K202 3N O +1 &K -630 -61.0 61.0
A5 A205 4 S= vK 420 76.0 -76.0 Y2 Y202 3NV +1 &0 -630 -61.0 61.0
BC5 BC205 44 N= vQ 420 76.0 -76.0 C3 C203 3NV +1 a2 -630 -61.0 61.0
C5 C205 4 S= a3 420 76.0 -76.0 13 1203 3N O +1 LY -630 -61.0 61.0
E5 E205 4e N= vK 420 76.0 -76.0 M3 M203 3N O +1 &K -630 -61.0 61.0
G5 G205 44 N= vK 420 76.0 -76.0 S3 S203 3NV +1 a2 -630 -61.0 61.0
15 1205 44 N= vK 420 76.0 -76.0 Y3 Y203 3N O +1 &K -630 -61.0 61.0
M5 M205 44 N= vK 420 76.0 -76.0 BA4 BA204 3N O +1 & K -630 -61.0 61.0
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0205 44 N= vK 420 76.0 -76.0 C4 C204 3N O +1 46 -630 -61.0 61.0
Q205 44 N= vK 420 76.0 -76.0 M4 M204 3N O +1 a2 -630 -61.0 61.0
S205 44 N= vK 420 76.0 -76.0 S4 S204 3NO+1 &K -630 -61.0 61.0
W205 44 N= v5 420 76.0 -76.0 U4 U204 3NV +1 a2 -630 -61.0 61.0
Y205 44 N= vK 420 76.0 -76.0 Q5 Q205 3NO +1 a K -630 -61.0 61.0
B301 44 N= vK 420 76.0 -76.0 B101 B301 3NV +1 L} -630 -61.0 61.0
BB301 44 N= vK 420 76.0 -76.0 H101 H301 3N O +1 a7 -630 -61.0 61.0
BD301 44 N= vK 420 76.0 -76.0 N102 N302 3NV +1 a2 -630 -61.0 61.0
F301 44 N= vK 420 76.0 -76.0 P102 P302 3N O +1 46 -630 -61.0 61.0
H301 44 N= vK 420 76.0 -76.0 X102 X302 3N O +1 46 -630 -61.0 61.0
N301 44 N= vK 420 76.0 -76.0 B103 B303 3N O +1 46 -630 -61.0 61.0
R301 44 N= vK 420 76.0 -76.0| BD103 BD303 3NV +1 LY -630 -61.0 61.0
T301 44 N= vK 420 76.0 -76.0 L104 L304 3N O +1 a4 -630 -61.0 61.0
X301 44 N= vK 420 76.0 -76.0 F105 F305 3NV +1 L JO) -630 -61.0 61.0
7301 44 S= 3 420 76.0 -76.0 X105 X305 3NV +1 a2 -630 -61.0 61.0
B302 44 N= vK 420 76.0 -76.0 11 1201 4y O +1 s K -650 -204.0 204.0
BB302 44 N= vK 420 76.0 -76.0 S1 S201 4v O +1 4Q -650 -204.0 204.0
BD302 44 N= vK 420 76.0 -76.0 Y1 Y201 4v O +1 &K -650 -204.0 204.0
F302 44 N= vQ 420 76.0 -76.0 G2 G202 4v O +1 a K -650 -204.0 204.0
H302 44 N= vA 420 76.0 -76.0 02 0202 4v O +1 a K -650 -204.0 204.0
J302 44 N= vK 420 76.0 -76.0 Q2 Q202 4v O +1 *9 -650 -204.0 204.0
N302 44 N= vK 420 76.0 -76.0 U2 U202 4v O +1 s K -650 -204.0 204.0
P302 44 N = vQ 420 76.0 -76.0 A3 A203 4y O +1 4Q -650 -204.0 204.0
R302 44 N= vQ 420 76.0 -76.0 E3 E203 4y O +1 &K -650 -204.0 204.0
T302 44 N= vK 420 76.0 -76.0 K3 K203 4y O +1 a K -650 -204.0 204.0
V302 44 N= vK 420 76.0 -76.0 Q3 Q203 4v O +1 a K -650 -204.0 204.0
X302 44 N= vK 420 76.0 -76.0 W3 W203 4v O +1 &K -650 -204.0 204.0
7302 44 N= vK 420 76.0 -76.0 BC4 BC204 4y O +1 s K -650 -204.0 204.0
BB303 44 N = vK 420 76.0 -76.0 A5 A205 4y O +1 4Q -650 -204.0 204.0
BD303 44 N= vQ 420 76.0 -76.0 C5 C205 4v O +1 &K -650 -204.0 204.0
F303 44 N= vK 420 76.0 -76.0 ES5 E205 4y O +1 a K -650 -204.0 204.0
H303 44 S = vA 420 76.0 -76.0 15 1205 4y O +1 a K -650 -204.0 204.0
J303 44 N= vK 420 76.0 -76.0 M5 M205 4y O +1 &K -650 -204.0 204.0
L303 44 N= vK 420 76.0 -76.0| BD101 BD301 4v O +1 a K -650 -204.0 204.0
N303 44 N= vK 420 76.0 -76.0 D101 D301 4v O +1 a K -650 -204.0 204.0
P303 44 N= vK 420 76.0 -76.0 F101 F301 4v O +1 &K -650 -204.0 204.0
R303 44 N= vK 420 76.0 -76.0 P101 P301 4y O +1 s K -650 -204.0 204.0
V303 44 N= vK 420 76.0 -76.0 T101 T301 4v O+1 4Q -650 -204.0 204.0
X303 44 N = vK 420 76.0 -76.0 D102 D302 4v O +1 &K -650 -204.0 204.0
Z303 44 N= vK 420 76.0 -76.0 F102 F302 4v O +1 s K -650 -204.0 204.0
B304 44 N = vK 420 76.0 -76.0 J102 J302 4y O +1 4Q -650 -204.0 204.0
BB304 44 N= vK 420 76.0 -76.0 T102 T302 4y O +1 *9 -650 -204.0 204.0
BD304 44 N= vK 420 76.0 -76.0 V102 V302 4v O +1 a K -650 -204.0 204.0
D304 44 N= vK 420 76.0 -76.0 J103 J303 4y O +1 a K -650 -204.0 204.0
F304 44 N= vK 420 76.0 -76.0 N103 N303 4v O +1 & K -650 -204.0 204.0
H304 44 S= vK 420 76.0 -76.0 V103 V303 4v V +1 a K -650 -204.0 204.0
J304 44 N= vK 420 76.0 -76.0 BB104 BB304 4v O +1 a K -650 -204.0 204.0
L304 44 N= vK 420 76.0 -76.0| BD104 BD304 4y O +1 &K -650 -204.0 204.0
N304 44 N= vK 420 76.0 -76.0 N104 N304 4v O +1 a K -650 -204.0 204.0
P304 44 N = vK 420 76.0 -76.0 T104 T304 4y O +1 s K -650 -204.0 204.0
T304 44 N= vK 420 76.0 -76.0 V104 V304 4v O +1 *9 -650 -204.0 204.0
X304 44 N= vK 420 76.0 -76.0 N105 N305 4v O +1 a K -650 -204.0 204.0
7304 44 N = vK 420 76.0 -76.0 P105 P305 44 O +1 a K -650 -204.0 204.0
BB305 44 N= vK 420 76.0 -76.0 R105 R305 4v O +1 & K -650 -204.0 204.0
BD305 44 N= vK 420 76.0 -76.0 BA3  BA203 3NV +2 *Q -660 -204.0 204.0
D305 44 N= vA 420 76.0 -76.0 G4 G204 3N O +2 46 -660 -204.0 204.0
F305 44 N= vK 420 76.0 -76.0 us U205 3NV +2 L Jo) -660 -204.0 204.0
H305 44 N= vK 420 76.0 -76.0 V101 V301 3N O +2 46 -660 -204.0 204.0
J305 44 N= vK 420 76.0 -76.0 F103 F303 3N O +2 a7 -660 -204.0 204.0
L305 44 N= vK 420 76.0 -76.0 R104 R304 3NV +2 L J6) -660 -204.0 204.0
N305 44 N= vK 420 76.0 -76.0 C1 C201 4v O +2 a K -680 -331.0 331.0
P305 44 N = vK 420 76.0 -76.0 Gl G201 4v O +2 s K -680 -331.0 331.0
R305 44 N= vK 420 76.0 -76.0 Ul U201 4v O +2 *9 -680 -331.0 331.0
T305 44 N= vK 420 76.0 -76.0 C2 C202 4y O +2 a K -680 -331.0 331.0
V305 44 N= vK 420 76.0 -76.0 E2 E202 4v V +2 L JO) -680 -331.0 331.0
Z305 44 N= vK 420 76.0 -76.0 W2 W202 4v O +2 *9 -680 -331.0 331.0
M201 3N S= v5 400 -59.0 59.0 K4 K204 4v O +2 s K -680 -331.0 331.0
E202 3N S = v6 400 -59.0 59.0 BC5 BC205 4y O +2 &9 -680 -331.0 331.0
BA203 3N S= v5 400 -59.0 59.0 K5 K205 4y O +2 &K -680 -331.0 331.0
U203 3NN = vK 400 -59.0 59.0 7102 7302 4y O +2 a K -680 -331.0 331.0
S204 3NN = vK 400 -59.0 59.0 L103 L303 4y O +2 a K -680 -331.0 331.0
D301 3NN = vK 400 -59.0 59.0 P103 P303 4y O +2 &K -680 -331.0 331.0
P301 3NN = vK 400 -59.0 59.0 X103 X303 4v O +2 a K -680 -331.0 331.0
L302 3NS= vA 400 -59.0 59.0 B104 B304 4v O +2 a K -680 -331.0 331.0
D303 3N S= v5 400 -59.0 59.0 F104 F304 4v O +2 &K -680 -331.0 331.0
T303 3NS= v4 400 -59.0 59.0 H104 H304 4v O +2 29 -680 -331.0 331.0
B305 5¢ S= v7 400 -59.0 59.0 B105 B305 4v O +2 a K -680 -331.0 331.0
G201 34 N= vK 140 -950.0 950.0 M1 M201 3NV +3 L Jo) -690 -340.0 340.0
K202 44 N-1 vK -50 -1421.0 1421.0 BA5  BA205 3NV +3 *0Q -690 -340.0 340.0
G204 44 N-1 vK -50 -1421.0 1421.0 L101 L301 3NV +3 *Q -690 -340.0 340.0
K205 44 N-1 vK -50 -1421.0 1421.0 BB103 BB303 3N O +3 L Jo) -690 -340.0 340.0
L301 44 N-1 vK -50 -1421.0 1421.0 D104 D304 3NV +3 *0Q -690 -340.0 340.0
V301 44 N-1 vK -50 -1421.0 1421.0 J104 J304 3NV +3 *0Q -690 -340.0 340.0
B303 44 N-1 vQ -50 -1421.0 1421.0 BB105 BB305 4NV +2 L Jo) -690 -340.0 340.0
R304 44 N-1 vK -50 -1421.0 1421.0 D105 D305 3N O +3 46 -690 -340.0 340.0
K201 64 N -2 vK -100 -1578.0 1578.0 BA1 BA201 6¢ V= L JO) -1370 -1879.0 1879.0
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang
T101 T301 24D N= v3 670 2155.0 -2155.0 F102 F302 24D O-3 &2 800 1916.0 -1916.0
BA5 BA205 5¢ S+1 &K 620 2115.0 -2115.0 Q5 Q205 3vDO -2 v2 500 1543.0 -1543.0
E4 E204 4v V-4 +6 200 1666.0 -1666.0 E2 E202 3NN = a4 400 1351.0 -1351.0
G4 G204 44 V-3 +6 150 1532.0 -1532.0 E3 E203 3NN = ¢+ K 400 1351.0 -1351.0
G5 G205 4+ V-3 +6 150 1532.0 -1532.0 G3 G203 3NS= a5 400 1351.0 -1351.0
S5 S205 44 O-3 »8 150 1532.0 -1532.0 14 1204 3NN = +3 400 1351.0 -1351.0
S3 S203 3% O-2 +6 100 1491.0 -1491.0 w4 W204 3NN = a4 400 1351.0 -1351.0
G2 G202 3+ V-1 4 A 50 1361.0 -1361.0 C5 C205 3NN = *6 400 1351.0 -1351.0
02 0202 7¢ O-1 46 50 1361.0 -1361.0 G5 G205 3NS= vJ] 400 1351.0 -1351.0
Q2 Q202 5¢ O-1 46 50 1361.0 -1361.0| BD101 BD301 3NN = v4 400 1351.0 -1351.0
Y2 Y202 2v V-1 +6 50 1361.0 -1361.0 Y1l Y201 14 O-2 &T 200 749.0 -749.0
BA3  BA203 7¢ O-1 v6 50 1361.0 -1361.0 BA1 BA201 INS+1 a5 120 547.0 -547.0
u4 U204 6¢ O-1 46 50 1361.0 -1361.0 BA3  BA203 1IN S +1 v3 120 547.0 -547.0
C5 C205 64 O-1 &K 50 1361.0 -1361.0 W3 W203 2NN = &5 120 547.0 -547.0
K5 K205 7¢ O-1 v9 50 1361.0 -1361.0 Y3 Y203 1IN S +1 vT 120 547.0 -547.0
L102 L302 7¢ O-1 46 50 1361.0 -1361.0 M4 M204 2N S = vJ] 120 547.0 -547.0
N102 N302 7¢ O-1 »8 50 1361.0 -1361.0 M5 M205 2NN = L X 120 547.0 -547.0
P102 P302 7¢ O-1 v6 50 1361.0 -1361.0| BB102 BB302 2NS-= v] 120 547.0 -547.0
P103 P303 64 O-1 46 50 1361.0 -1361.0| BD103 BD303 1INS+1 v5 120 547.0 -547.0
F105 F305 6¢ O-1 46 50 1361.0 -1361.0 J103 J303 2N S= v3 120 547.0 -547.0
T102 T302 2v S-1 vA -100 1040.0 -1040.0 T103 T303 INS+1 a5 120 547.0 -547.0
H103 H303 3# V= v8 -110 998.0 -998.0 Al A201 2¢ S+1 a5 110 437.0 -437.0
El E201 3¢ O +2 *6 -150 928.0 -928.0 C1l C201 3¢ N= v4 110 437.0 -437.0
H105 H305 3¢ O +3 46 -170 848.0 -848.0 El E201 3¢ S= a4 110 437.0 -437.0
J105 J305 3¢ O+3 46 -170 848.0 -848.0 S1 S201 2¢ S+1 a5 110 437.0 -437.0
11 1201 34D N-1 ¢ A -200 779.0 -779.0 Q4 Q204 2¢ S+1 a5 110 437.0 -437.0
BA2 BA202 24DN-1 v3 -200 779.0 -779.0 BA5 BA205 3¢ N= LY 110 437.0 -437.0
Y4 Y204 34 N-2 v3 -200 779.0 -779.0 V101 V301 2¢ S+1 a5 110 437.0 -437.0
D101 D301 34DN-1 v3 -200 779.0 -779.0 J102 J302 2¢ N+1 8 110 437.0 -437.0
H102 H302 24D N -1 v3 -200 779.0 -779.0 N102 N302 2¢ S+1 a5 110 437.0 -437.0
V102 V302 24DN-1 a2 -200 779.0 -779.0 R102 R302 3¢ N= »8 110 437.0 -437.0
X103 X303 24DN-1 *7 -200 779.0 -779.0 N104 N304 2¢ S+1 a5 110 437.0 -437.0
D105 D305 24D N-1 v3 -200 779.0 -779.0 T104 T304 3¢ S= a5 110 437.0 -437.0
L105 L305 34D N-1 v3 -200 779.0 -779.0 X105 X305 2¢ N+1 »8 110 437.0 -437.0
L104 L304 34 N-3 v3 -300 493.0 -493.0 13 1203 3v V-1 A 100 423.0 -423.0
BB105 BB305 34 N-3 a2 -300 493.0 -493.0 M2 M202 INS= vJ] 90 409.0 -409.0
o1 0201 3NV= +Q -400 208.0 -208.0 R104 R304 INS= vJ] 90 409.0 -409.0
A2 A202 5¢ O= v6 -400 208.0 -208.0 D105 D305 INS= vT 90 409.0 -409.0
A3 A203 5¢ O= *6 -400 208.0 -208.0( BB103 BB303 14 S= v3 80 400.0 -400.0
K3 K203 5¢ O = v6 -400 208.0 -208.0 Gl G201 3NS-1 v5 -50 -119.0 119.0
K4 K204 5¢ O= v6 -400 208.0 -208.0 K1 K201 3NS-1 v3 -50 -119.0 119.0
M4 M204 5¢ O= v9 -400 208.0 -208.0 o1 0201 3NS-1 v3 -50 -119.0 119.0
J101 J301 34 N-4 v3 -400 208.0 -208.0 Q1 Q201 3NS-1 v6 -50 -119.0 119.0
P104 P304 5¢ O= »8 -400 208.0 -208.0 Ul U201 3NS-1 vT -50 -119.0 119.0
7104 Z304 5¢ O= v6 -400 208.0 -208.0 A2 A202 3NS-1 vJ -50 -119.0 119.0
N105 N305 5¢ O= 46 -400 208.0 -208.0 BA2 BA202 3NS-1 v3 -50 -119.0 119.0
BC1 BC201 5¢ O+1 a7 -420 126.0 -126.0 G2 G202 3NS-1 v5 -50 -119.0 119.0
K1 K201 5¢ O+1 46 -420 126.0 -126.0 02 0202 3NS-1 vT -50 -119.0 119.0
S1 S201 5¢ O +1 v7 -420 126.0 -126.0 S2 S202 3NS-1 *3 -50 -119.0 119.0
w1 W201 5¢ O +1 &K -420 126.0 -126.0 u2 U202 3NN-1 a4 -50 -119.0 119.0
BC2 BC202 5¢ O+1 46 -420 126.0 -126.0 W2 W202 3NS-1 v3 -50 -119.0 119.0
12 1202 5¢ O +1 3 -420 126.0 -126.0 Y2 Y202 3N S-1 v5 -50 -119.0 119.0
K2 K202 5¢ O +1 »8 -420 126.0 -126.0 A3 A203 3NS-1 v5 -50 -119.0 119.0
S2 S202 5¢ O +1 »8 -420 126.0 -126.0 C3 C203 3NS-1 v3 -50 -119.0 119.0
W2 W202 5¢ O +1 + K -420 126.0 -126.0 K3 K203 3N S-1 vT -50 -119.0 119.0
BC3 BC203 5¢ O +1 &K -420 126.0 -126.0 M3 M203 3N S-1 v] -50 -119.0 119.0
E3 E203 5¢ O +1 46 -420 126.0 -126.0 03 0203 3NS-1 v3 -50 -119.0 119.0
G3 G203 5¢ O +1 46 -420 126.0 -126.0 u3 U203 2NN -1 v4 -50 -119.0 119.0
M3 M203 5¢ O +1 &K -420 126.0 -126.0 E4 E204 3N S-1 &7 -50 -119.0 119.0
03 0203 5¢ O +1 a7 -420 126.0 -126.0 G4 G204 3NN-1 46 -50 -119.0 119.0
W3 W203 5¢ O +1 46 -420 126.0 -126.0 04 0204 3NS-1 v3 -50 -119.0 119.0
Y3 Y203 5¢ V+1 &K -420 126.0 -126.0 S4 S204 3NS-1 vT -50 -119.0 119.0
w4 W204 5¢ O +1 »8 -420 126.0 -126.0 u4 U204 3NN -1 a4 -50 -119.0 119.0
BC5 BC205 5¢ O +1 46 -420 126.0 -126.0 Y4 Y204 3NS-1 v3 -50 -119.0 119.0
15 1205 5¢ O +1 »8 -420 126.0 -126.0 BC5 BC205 3NS-1 v] -50 -119.0 119.0
M5 M205 5¢ O +1 a2 -420 126.0 -126.0 15 1205 2N S-1 v3 -50 -119.0 119.0
us U205 5¢ O +1 46 -420 126.0 -126.0 05 0205 3NS-1 v5 -50 -119.0 119.0
F101 F301 5¢ O+1 46 -420 126.0 -126.0 S5 S205 3¢ S-1 45 -50 -119.0 119.0
L101 L301 5¢ O+1 a7 -420 126.0 -126.0 us U205 3N S-1 v3 -50 -119.0 119.0
R101 R301 5¢ O +1 v9 -420 126.0 -126.0 B101 B301 3NS-1 vT -50 -119.0 119.0
7101 Z301 5¢ O +1 46 -420 126.0 -126.0 D101 D301 3NS-1 v] -50 -119.0 119.0
B102 B302 5¢ O +1 a7 -420 126.0 -126.0 F101 F301 3NS-1 vT -50 -119.0 119.0
F102 F302 5¢ O +1 46 -420 126.0 -126.0 H101 H301 3N S-1 v3 -50 -119.0 119.0
7102 7302 5¢ O +1 &K -420 126.0 -126.0 Ji101 J301 3NS-1 v3 -50 -119.0 119.0
B103 B303 5¢ O +1 a7 -420 126.0 -126.0 L101 L301 3NS-1 v3 -50 -119.0 119.0
L103 L303 5¢ O +1 8 -420 126.0 -126.0 N101 N301 3N S-1 v4 -50 -119.0 119.0
N103 N303 5¢ O +1 46 -420 126.0 -126.0 P101 P301 3NS-1 vT -50 -119.0 119.0
R103 R303 5¢ O +1 46 -420 126.0 -126.0 T101 T301 3NS-1 oT -50 -119.0 119.0
7103 Z303 5¢ O+1 46 -420 126.0 -126.0 X101 X301 3NS-1 v3 -50 -119.0 119.0
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T104 T304 5¢ O +1 v6 -420 126.0 -126.0 Z101 7301 3NS-1 v5 -50 -119.0 119.0
X104 X304 5¢ O+1 oK -420 126.0 -126.0| BD102 BD302 3NS-1 v5 -50 -119.0 119.0
B105 B305 5¢ O +1 3 -420 126.0 -126.0 D102 D302 3N N-1 8 -50 -119.0 119.0
BD105 BD305 5¢ O +1 46 -420 126.0 -126.0 T102 T302 3NN-1 v4 -50 -119.0 119.0
P105 P305 5¢ O +1 8 -420 126.0 -126.0 7102 7302 3NS-1 *6 -50 -119.0 119.0
T105 T305 5¢ O +1 46 -420 126.0 -126.0 D103 D303 3NS-1 v3 -50 -119.0 119.0
V105 V305 5¢ O +1 28 -420 126.0 -126.0 F103 F303 3NN-1 a4 -50 -119.0 119.0
X105 X305 5¢ O +1 8 -420 126.0 -126.0 H103 H303 3N N-1 8 -50 -119.0 119.0
M1 M201 3N O +1 46 -430 94.0 -94.0 P103 P303 3NS-1 v3 -50 -119.0 119.0
Y1l Y201 3NO +1 v2 -430 94.0 -94.0 R103 R303 3NS-1 v3 -50 -119.0 119.0
Cc2 C202 3N O +1 46 -430 94.0 -94.0 X103 X303 3NN-1 va -50 -119.0 119.0
13 1203 3NV +1 v8 -430 94.0 -94.0 7103 7303 3NS-1 vT -50 -119.0 119.0
C4 C204 3NV +1 v8 -430 94.0 -94.0 B104 B304 24 N-1 v4 -50 -119.0 119.0
B101 B301 3NV +1 v8 -430 94.0 -94.0( BB104 BB304 3NS-1 45 -50 -119.0 119.0
V101l V301 3NV +1 *4 -430 94.0 -94.0 D104 D304 3NS-1 vT -50 -119.0 119.0
J104 J304 3NV +1 &5 -430 94.0 -94.0 J104 J304 3NS-1 LX) -50 -119.0 119.0
E2 E202 5¢ O +2 *J -440 43.0 -43.0 P104 P304 3NS-1 vT -50 -119.0 119.0
A5 A205 5¢ O +2 46 -440 43.0 -43.0 V104 V304 3NS-1 v3 -50 -119.0 119.0
E5 E205 5¢ O +2 28 -440 43.0 -43.0 7104 7304 3NS-1 vT -50 -119.0 119.0
BB101 BB301 5¢ O +2 46 -440 43.0 -43.0( BB105 BB305 3NS-1 vT -50 -119.0 119.0
A4 A204 3NV +2 v8 -460 -10.0 10.0 F105 F305 3NS-1 v3 -50 -119.0 119.0
BB102 BB302 3NV +3 &5 -490 -110.0 110.0 J105 J305 3NN-1 a4 -50 -119.0 119.0
M2 M202 34D N -2 v3 -500 -135.0 135.0 N105 N305 3N S-1 vlJ -50 -119.0 119.0
04 0204 34DN-2 v3 -500 -135.0 135.0 T105 T305 3NS-1 v5 -50 -119.0 119.0
S4 S204 24DN-2 &7 -500 -135.0 135.0 V105 V305 3NS-1 a5 -50 -119.0 119.0
Q5 Q205 24D N -2 v3 -500 -135.0 135.0 A5 A205 2& V= «K -90 -279.0 279.0
D102 D302 34DN -2 v3 -500 -135.0 135.0 BC1 BC201 3NS-2 v3 -100 -365.0 365.0
R102 R302 34DN -2 v3 -500 -135.0 135.0 11 1201 3N S -2 vJ -100 -365.0 365.0
BB103 BB303 34DN-2 v3 -500 -135.0 135.0 M1 M201 3N S-2 vT -100 -365.0 365.0
F103 F303 34D N-2 v3 -500 -135.0 135.0 BC2 BC202 3NS-2 v3 -100 -365.0 365.0
BB104 BB304 24DN-2 &7 -500 -135.0 135.0 c2 C202 3NS-2 43 -100 -365.0 365.0
H104 H304 34D N -2 v3 -500 -135.0 135.0 K2 K202 3N S-2 v3 -100 -365.0 365.0
C3 C203 34DN-3 v3 -800 -997.0 997.0 Q2 Q202 3NS-2 v8 -100 -365.0 365.0
BC4 BC204 44DN-3 v3 -800 -997.0 997.0 BC3 BC203 3NDS-1 a5 -100 -365.0 365.0
Y5 Y205 34D N -3 v3 -800 -997.0 997.0 A4 A204 3N S-2 v3 -100 -365.0 365.0
H101 H301 44DN -3 v3 -800 -997.0 997.0 BC4 BC204 3NS-2 vJ -100 -365.0 365.0
N101 N301 34DN-3 v3 -800 -997.0 997.0 C4 C204 3NS-2 45 -100 -365.0 365.0
BD103 BD303 34DN-3 45 -800 -997.0 997.0 E5 E205 3N S-2 vT -100 -365.0 365.0
D104 D304 44DN -3 v3 -800 -997.0 997.0 W5 W205 44D N -1 vK -100 -365.0 365.0
7105 Z305 34DN-3 v3 -800 -997.0 997.0 Y5 Y205 3N S -2 vT -100 -365.0 365.0
Al A201 64 O= v7 -920 -1276.0 1276.0 R101 R301 3NS-2 *4 -100 -365.0 365.0
C1l C201 64 O= 46 -920 -1276.0 1276.0 B102 B302 3N S-2 v3 -100 -365.0 365.0
G1 G201 6¢ O= 46 -920 -1276.0 1276.0 H102 H302 3N S -2 v3 -100 -365.0 365.0
Ul U201 64 O= 8 -920 -1276.0 1276.0 L102 L302 34 N-2 vQ -100 -365.0 365.0
u2 U202 64 O= 46 -920 -1276.0 1276.0 P102 P302 4¢DS-1 v3 -100 -365.0 365.0
U3 U203 64 O= 28 -920 -1276.0 1276.0 X102 X302 2N S -2 v3 -100 -365.0 365.0
BA4 BA204 6¢ O= 46 -920 -1276.0 1276.0 N103 N303 3N S -2 v3 -100 -365.0 365.0
Q4 Q204 6¢ O= 46 -920 -1276.0 1276.0 | BD104 BD304 3N S -2 v3 -100 -365.0 365.0
05 0205 6¢ O= 46 -920 -1276.0 1276.0 F104 F304 3NS-2 v3 -100 -365.0 365.0
W5 W205 6¢ O = vT -920 -1276.0 1276.0 H104 H304 3NN -2 vlJ -100 -365.0 365.0
BD101 BD301 64 O= 46 -920 -1276.0 1276.0 X104 X304 3N S -2 v3 -100 -365.0 365.0
P101 P301 6¢ O= 28 -920 -1276.0 1276.0 B105 B305 4¢DN-1 v3 -100 -365.0 365.0
X101 X301 64 O= v6 -920 -1276.0 1276.0 | BD105 BD305 3N S -2 v3 -100 -365.0 365.0
BD102 BD302 64 O= 46 -920 -1276.0 1276.0 L105 L305 3NS-2 v3 -100 -365.0 365.0
J102 J302 64 O= a7 -920 -1276.0 1276.0 P105 P305 3N S-2 vlJ -100 -365.0 365.0
X102 X302 64 O= 46 -920 -1276.0 1276.0 Z105 Z305 3N S-2 vT -100 -365.0 365.0
D103 D303 64 O= 46 -920 -1276.0 1276.0 V102 V302 2v V= *A -110 -387.0 387.0
J103 J303 6¢ V= a A -920 -1276.0 1276.0 S3 S203 3N S-3 vlJ -150 -544.0 544.0
BD104 BD304 6¢ O = 46 -920 -1276.0 1276.0 BA4  BA204 44 N-3 8 -150 -544.0 544.0
F104 F304 6¢ O= 46 -920 -1276.0 1276.0 K5 K205 3NN -3 8 -150 -544.0 544.0
N104 N304 6¢ O= 46 -920 -1276.0 1276.0 | BB101 BB301 3NS-3 v3 -150 -544.0 544.0
R104 R304 64 O = oK -920 -1276.0 1276.0 L103 L303 44 N-3 v4 -150 -544.0 544.0
V104 V304 64 O= 46 -920 -1276.0 1276.0 L104 L304 3NS-3 v3 -150 -544.0 544.0
R105 R305 6¢ O= oK -920 -1276.0 1276.0 H105 H305 3N S -3 v3 -150 -544.0 544.0
Q1 Q201 6¢ O +1 46 -940 -1337.0 1337.0 R105 R305 3N S-3 vT -150 -544.0 544.0
V103 V303 6¢ V +1 a5 -940 -1337.0 1337.0 w1 W201 44 N-4 8 -200 -706.0 706.0
B104 B304 6¢ O +1 8 -940 -1337.0 1337.0 12 1202 44 N -4 9 -200 -706.0 706.0
BA1 BA201 34DN-4 v3 -1100 -1616.0 1616.0 Q3 Q203 3NS-4 vT -200 -706.0 706.0
Q3 Q203 34D N -4 v3 -1100 -1616.0 1616.0 B103 B303 44 N-4 &5 -200 -706.0 706.0
14 1204 34DN -4 v3 -1100 -1616.0 1616.0 V103 V303 44 N-4 v4 -200 -706.0 706.0
T103 T303 54D S -4 ¢ A -1100 -1616.0 1616.0 K4 K204 44DN -2 v8 -300 -984.0 984.0
7 oK Basta kontrakt 8 s E Basta kontrakt
Syd vKD2 6NT S = 1440 Vast v43 4¢ S =130
Alla ¢ E753 Ingen ¢ Kn9753
#EDKn93 * v 4 N #109754 & ¢ v aN
4D10984 4Kn632 N 1111129 1 4 K7432 4Kn985 N9 9757
v 1075 v 964 S 1111129 1 vK1065 v972 S 9 107 5 7
+ D8 + KKn9 o1 141 +D + K84 0436185
£K107 #842 v 2 141 #EK8 #632 V436185
4 E75 4 D106
v EKn83 v EDKn8
¢ 10642 + E1062
#65 #DKn
Par Kontr ut Res Poang Par Kontr ut Res Poéang
G3 G203 24DV -4 vK 1100 1541.0 -1541.0 G3 G203 3NS= *A 400 1253.0 -1253.0
G1 G201 3NS+3 48 690 310.0 -310.0 04 0204 54 V-4 +3 200 636.0 -636.0
K2 K202 3N S +3 a4 690 310.0 -310.0 P103 P303 44 V-4 &T 200 636.0 -636.0
U2 U202 3N N +3 43 690 310.0 -310.0 BC2 BC202 34 V-3 &T 150 469.0 -469.0
BC3 BC203 3NN +3 8 690 310.0 -310.0 W5 W205 44 V-3 +5 150 469.0 -469.0
E3 E203 3N N +3 ¢+K 690 310.0 -310.0 N101 N301 34 V-3 *4 150 469.0 -469.0
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1203
K203
Y203

BA204
C204
G204
K204
E205

1205
Q205
T301
R303
W202
Q204

BC205

BB301
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F305
A201

BA201
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0202
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BA203
0203
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S204
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3N S +2
3NN +2
3N S +2
3N N +2
3N S +2
4v S +1
4v S +1
4v N +1
4v S +1
4v S +1
4v N +1
4v S +1
4v S +1
4v S +1
4v S +1
4v S +1
4v S +1
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F302
BD304
1201
A202
1202
K202
M202
5202
W202
$203
U203
Y204
A205
BA205
0205
F301
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V301
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BD302
L302
T302
V302
BB303
L303
N303
2303
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N305
A204
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Y203
X301
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J303
BB304
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A201
5201
BA202
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E204
1204
W204
BC205
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L301
R301
BB302
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D303
B304
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X304
BB305
BD305
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BC201
M201
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0202
BC203
1203
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M204
BD301
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BD303
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H303
BA201
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V104 V304 4v N +1 a3 650 173.0 -173.0 Ul U201 5¢ S-1 &A -50 -323.0 323.0
R105 R305 4v S+1 v5 650 173.0 -173.0 c2 C202 4¢ N-1 v2 -50 -323.0 323.0
V105 V305 4v S+1 v5 650 173.0 -173.0 E2 E202 2N S-1 a3 -50 -323.0 323.0
M1 M201 3N S +1 49 630 24.0 -24.0 G2 G202 4¢ N-1 LY:] -50 -323.0 323.0
BA2 BA202 3N S +1 v5 630 24.0 -24.0 u2 U202 3N N-1 LY:] -50 -323.0 323.0
G2 G202 3NS+1 aT 630 24.0 -24.0 Y2 Y202 5¢ N-1 a5 -50 -323.0 323.0
A3 A203 3N S +1 LY:] 630 24.0 -24.0 A3 A203 4¢ N-1 a5 -50 -323.0 323.0
M3 M203 3N S +1 T 630 24.0 -24.0 E3 E203 5¢ N-1 a5 -50 -323.0 323.0
M4 M204 3N N +1 rY:] 630 24.0 -24.0 03 0203 44 N-1 s] -50 -323.0 323.0
G5 G205 3N S +1 T 630 24.0 -24.0 C5 C205 4¢ S-1 a2 -50 -323.0 323.0
W5 W205 3N S +1 T 630 24.0 -24.0 E5 E205 4¢ N-1 LY:] -50 -323.0 323.0
X101 X301 3NS+1 a4 630 24.0 -24.0 H101 H301 5¢ N-1 L] -50 -323.0 323.0
V102 V302 3NS+1 LY:] 630 24.0 -24.0 Z101 Z301 4¢ N-1 a5 -50 -323.0 323.0
H103 H303 3N S +1 LY:] 630 24.0 -24.0 X103 X303 5¢ S-1 &K -50 -323.0 323.0
T103 T303 3NS+1 a4 630 24.0 -24.0 J104 J304 5¢ S-1 +Q -50 -323.0 323.0
2104 Z304 3N S+1 LY:] 630 24.0 -24.0 N104 N304 5¢ N-1 LY:] -50 -323.0 323.0
J105 J305 3NS+1 rY! 630 24.0 -24.0 R104 R304 5¢ S-1 &A -50 -323.0 323.0
U3 U203 4y N= a3 620 24.0 -24.0 2104 Z304 5¢ N-1 s -50 -323.0 323.0
L101 L301 4v S= a9 620 24.0 -24.0 D105 D305 4¢ S-1 a3 -50 -323.0 323.0
Z101 Z301 4v S= LY:] 620 24.0 -24.0 T105 T305 5¢ N-1 a5 -50 -323.0 323.0
B105 B305 44 S= vA 620 24.0 -24.0 K1 K201 5¢DS-1 &A -100 -521.0 521.0
11 1201 5¢ S= a5 600 -106.0 106.0 Y1l Y201 5¢ S-2 a2 -100 -521.0 521.0
Q1 Q201 5¢ N= 46 600 -106.0 106.0 Q2 Q202 5¢ S-2 &A -100 -521.0 521.0
C3 C203 5¢ N= a3 600 -106.0 106.0 G4 G204 5¢ N-2 a] -100 -521.0 521.0
w3 W203 5¢ S= &7 600 -106.0 106.0 Q4 Q204 2NN -2 LY:] -100 -521.0 521.0
A4 A204 3N N= a3 600 -106.0 106.0 ua U204 5¢ N-2 LY:] -100 -521.0 521.0
BC4 BC204 5¢ N= &5 600 -106.0 106.0 15 1205 3N S -2 &A -100 -521.0 521.0
S5 S205 5¢ S= vT 600 -106.0 106.0 U5 U205 5¢ S-2 &A -100 -521.0 521.0
B101 B301 3NS= LY:] 600 -106.0 106.0 R105 R305 3NS-2 &A -100 -521.0 521.0
BD101 BD301 3NS= 49 600 -106.0 106.0 K3 K203 24 V= +3 -110 -535.0 535.0
P101 P301 5¢ N= a3 600 -106.0 106.0 Q3 Q203 24 V= &T -110 -535.0 535.0
V101 V301 5¢ N= a3 600 -106.0 106.0 BA4 BA204 24 V= +3 -110 -535.0 535.0
7102 Z302 5¢ N= a3 600 -106.0 106.0 BC4 BC204 24 V= s A -110 -535.0 535.0
BB103 BB303 5# S= LY 600 -106.0 106.0 S4 S204 24 V= +5 -110 -535.0 535.0
J103 J303 5¢ N= v3 600 -106.0 106.0 N102 N302 2« V= &T -110 -535.0 535.0
D104 D304 5¢ S= a5 600 -106.0 106.0 T103 T303 24 V= &4 -110 -535.0 535.0
N104 N304 5¢ N= a3 600 -106.0 106.0 V103 V303 24 V= +3 -110 -535.0 535.0
X104 X304 5¢ N= &) 600 -106.0 106.0 T104 T304 1e V+1 &T -110 -535.0 535.0
7105 Z305 5¢ N= v4 600 -106.0 106.0 V105 V305 24 V= &4 -110 -535.0 535.0
Cl C201 2¢ N+3 49 150 -1444.0 1444.0 BA3 BA203 34 V= &T -140 -673.0 673.0
Q3 Q203 24 N +3 a2 150 -1444.0 1444.0 G5 G205 34 V= &T -140 -673.0 673.0
U4 U204 2¢ S+3 v5 150 -1444.0 1444.0 Q5 Q205 34 V= +3 -140 -673.0 673.0
R102 R302 2¢ N +3 49 150 -1444.0 1444.0 BB101 BB301 34 V= &T -140 -673.0 673.0
BD103 BD303 3¢ S +2 T 150 -1444.0 1444.0 R103 R303 24 V+1 v4 -140 -673.0 673.0
B104 B304 3¢ N +2 a3 150 -1444.0 1444.0 H104 H304 24 V +1 &T -140 -673.0 673.0
BB104 BB304 2& N +3 a2 150 -1444.0 1444.0 Gl G201 4v S-3 &A -150 -683.0 683.0
BD104 BD304 24 S +3 v5 150 -1444.0 1444.0 o1 0201 5¢ N-3 LY:] -150 -683.0 683.0
12 1202 6¢ N-1 v6 -100 -1795.0 1795.0 M5 M205 3N S-3 a2 -150 -683.0 683.0
04 0204 6¢ N-1 a3 -100 -1795.0 1795.0 S5 S205 3N N-3 LY:] -150 -683.0 683.0
X103 X303 5¢ S-1 &K -100 -1795.0 1795.0 K4 K204 5¢D N -2 v7 -300 -1153.0 1153.0
P104 P304 6¢ S-1 LY -100 -1795.0 1795.0 P102 P302 5¢D S -2 &K -300 -1153.0 1153.0
X105 X305 64 N-1 &6 -100 -1795.0 1795.0 L104 L304 5¢DS-2 a2 -300 -1153.0 1153.0
9 +108 Basta kontrakt 10 4972 Basta kontrakt
Nord v KDKn74 6NT N =990 Ost v KDKn10975 6¢ O =-1370
ov +6 Alla ¢ D7
#D10983 & ¢ v & NT &10 & ¢ v & NT
497654 &D3 N 1211121012 a- 4 KD10 N1166 2
v 83 v 9652 S 1211121012 vE43 v 86 S1166 2
¢ Kn742 ¢ 10983 012131 ¢ EKn10983 ¢ K42 O 12127 6 11
»76 &E54 vi1i2131 D874 &#EKNn932 V 12127 6 11
& EKKn2 & EKn86543
vE10 v2
+ EKD5 465
&KKn2 #K65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
M1 M201 6N S +1 v8 1020 459.0 -459.0 E5 E205 34D S+1 &7 930 2477.0 -2477.0
Y1 Y201 6N S +1 LY 1020 459.0 -459.0 BD103 BD303 44D S= vA 790 2348.0 -2348.0
K4 K204 6N S +1 a5 1020 459.0 -459.0 03 0203 6¢ V-2 vK 200 1801.0 -1801.0
BA5 BA205 6N S +1 a4 1020 459.0 -459.0 C4 C204 64 V-2 vK 200 1801.0 -1801.0
2104 Z304 6N S +1 49 1020 459.0 -459.0 P102 P302 6% O -2 v2 200 1801.0 -1801.0
BD105 BD305 6N S +1 a7 1020 459.0 -459.0 S1 S201 7¢ O-1 s A 100 1660.0 -1660.0
w1 W201 6v S+1 46 1010 457.0 -457.0 BC2 BC202 5¢ O-1 vK 100 1660.0 -1660.0
Al A201 6N S= v3 990 333.0 -333.0 U3 U203 5# O-1 v2 100 1660.0 -1660.0
BA1 BA201 6NS= a5 990 333.0 -333.0 J101 J301 54 O-1 v2 100 1660.0 -1660.0
El E201 6N S= 46 990 333.0 -333.0 T102 T302 64 O -1 v2 100 1660.0 -1660.0
K1 K201 6N S = &7 990 333.0 -333.0 P103 P303 5&# O -1 v2 100 1660.0 -1660.0
Q1 Q201 6NS= a7 990 333.0 -333.0 H104 H304 5# O -1 v2 100 1660.0 -1660.0
S1 S201 6N S= a4 990 333.0 -333.0 15 1205 34 S-1 ¢A -100 1345.0 -1345.0
Ul U201 6N S= LY 990 333.0 -333.0 B104 B304 34 S-1 vA -100 1345.0 -1345.0
A2 A202 6N S= a7 990 333.0 -333.0 N103 N303 4¢ O +1 v2 -150 1247.0 -1247.0
BA2 BA202 6N S = a4 990 333.0 -333.0 K2 K202 3¢ V +3 a7 -170 1211.0 -1211.0
E2 E202 6N S = a5 990 333.0 -333.0 Q2 Q202 4% O +2 v2 -170 1211.0 -1211.0
G2 G202 6NS= *2 990 333.0 -333.0 Y3 Y203 4¢ V+2 &T -170 1211.0 -1211.0
M2 M202 6N S = a7 990 333.0 -333.0 D104 D304 3¢ O +3 v3 -170 1211.0 -1211.0
S2 S202 6N S= LY 990 333.0 -333.0 Z105 Z305 3¢ O+3 v2 -170 1211.0 -1211.0
u2 U202 6N S = 46 990 333.0 -333.0 E1l E201 4e4DS-1 &6 -200 1128.0 -1128.0
BA3 BA203 6N S = a7 990 333.0 -333.0 S2 S202 44 S-2 &7 -200 1128.0 -1128.0
BC3 BC203 6N S= 46 990 333.0 -333.0 A4 A204 44 S -2 ¢A -200 1128.0 -1128.0
C3 C203 6N S= 46 990 333.0 -333.0 M4 M204 4e S -2 ¢A -200 1128.0 -1128.0
G3 G203 6N S = v8 990 333.0 -333.0 G5 G205 4v N-2 *2 -200 1128.0 -1128.0
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1203 6N S = 46 990 333.0 -333.0 X101 X301 4v N-2 *4 -200 1128.0
M203 6N S = a4 990 333.0 -333.0 D102 D302 4v N-2 ¢2 -200 1128.0
0203 6N S = a4 990 333.0 -333.0 BB103 BB303 44 S-2 &7 -200 1128.0
Q203 6N S = a7 990 333.0 -333.0 J104 J304 34 S-2 *A -200 1128.0
S203 6NN = +3 990 333.0 -333.0 X104 X304 34DS-1 *A -200 1128.0
U203 6N S = a4 990 333.0 -333.0 H105 H305 4v N-3 2 -300 903.0
Y203 6N S = &7 990 333.0 -333.0 J103 J303 4y N-4 a K -400 641.0
A204 6N S = v8 990 333.0 -333.0 BA1 BA201 3vDN-2 a K -500 334.0

BC204 6N S = a7 990 333.0 -333.0 o1 0201 4vDN-2 v8 -500 334.0
C204 6N S = a4 990 333.0 -333.0 u2 U202 4vDN-2 2 -500 334.0
E204 6N S = a7 990 333.0 -333.0 Y2 Y202 54D S -2 &4 -500 334.0
M204 6N S = a5 990 333.0 -333.0 A3 A203 5v N - A -500 334.0
0204 6NS= 46 990 333.0 -333.0 K3 K203 54D S -2 &7 -500 334.0
Q204 6N S= a4 990 333.0 -333.0 BA4 BA204 44DS-2 &7 -500 334.0
S204 6N S = v8 990 333.0 -333.0 E4 E204 44DS-2 ¢ A -500 334.0
W204 6N S = 46 990 333.0 -333.0 Q5 Q205 44D S-2 &7 -500 334.0
A205 6N S = v8 990 333.0 -333.0 us U205 4vyDN-2 *4 -500 334.0

BC205 6N S = a5 990 333.0 -333.0 7101 Z301 54DS -2 &4 -500 334.0
G205 6N S= 49 990 333.0 -333.0 N102 N302 4vDN -2 2 -500 334.0

1205 6N S = a4 990 333.0 -333.0 R103 R303 44D S -2 *A -500 334.0
Q205 6N S = +4 990 333.0 -333.0 F104 F304 3vDN -2 2 -500 334.0
W205 6N S = a4 990 333.0 -333.0 X105 X305 44DS-2 vA -500 334.0
Y205 6N S = a5 990 333.0 -333.0 Ci C201 3NO= v2 -600 62.0

BB301 6N S = v8 990 333.0 -333.0 Y1 Y201 5¢ V= &T -600 62.0
BD301 6N S = 46 990 333.0 -333.0 G2 G202 54 O = s A -600 62.0
D301 6N S = &7 990 333.0 -333.0 G3 G203 5¢ O= v2 -600 62.0
F301 6NS= 9 990 333.0 -333.0 J102 J302 3NO = a7 -600 62.0

J301 6N S= a7 990 333.0 -333.0 L104 L304 3NO= 43 -600 62.0
N301 6N S = 46 990 333.0 -333.0 T104 T304 3NO = a5 -600 62.0
P301 6N S = *6 990 333.0 -333.0 D105 D305 5¢ V= vK -600 62.0
R301 6N S = a5 990 333.0 -333.0 T105 T305 5¢ V= vK -600 62.0
T301 6N S = a7 990 333.0 -333.0 Al A201 5¢ V +1 vK -620 -3.0
X301 6NS= LY 990 333.0 -333.0 Gl G201 5¢ O+1 v2 -620 -3.0
B302 6N S = a4 990 333.0 -333.0 11 1201 5& O +1 v2 -620 -3.0

BB302 6N S = a7 990 333.0 -333.0 M1 M201 5¢ O +1 v2 -620 -3.0
BD302 6N S = a5 990 333.0 -333.0 BA2 BA202 5¢ O+1 aA -620 -3.0
D302 6N S = a4 990 333.0 -333.0 E2 E202 5¢ V +1 &T -620 -3.0
H302 6N S = a7 990 333.0 -333.0 12 1202 5# O +1 v6 -620 -3.0

J302 6N S = &7 990 333.0 -333.0 02 0202 5¢ V+1 9 -620 -3.0
N302 6N S = a4 990 333.0 -333.0 W2 W202 5¢ O +1 vK -620 -3.0
P302 6N S = a4 990 333.0 -333.0 BA3  BA203 5# O +1 v2 -620 -3.0
R302 6N S = a4 990 333.0 -333.0 C3 C203 5# O +1 4 A -620 -3.0
V302 6N S = &7 990 333.0 -333.0 M3 M203 5# O +1 v2 -620 -3.0
X302 6N S = &7 990 333.0 -333.0 Q3 Q203 5¢ O+1 s A -620 -3.0

BB303 6N S = a4 990 333.0 -333.0 BC4 BC204 5# O +1 4 A -620 -3.0
BD303 6N S = a7 990 333.0 -333.0 u4 U204 54 O +1 v2 -620 -3.0
D303 6N S = *4 990 333.0 -333.0 w4 W204 5¢ O +1 s A -620 -3.0
F303 6N S = +3 990 333.0 -333.0 Y4 Y204 5¢ O +1 4 A -620 -3.0
H303 6N S = a4 990 333.0 -333.0 BA5 BA205 5# O +1 v2 -620 -3.0
N303 6N S = 49 990 333.0 -333.0 05 0205 5¢ V+1 vK -620 -3.0
R303 6N S = a4 990 333.0 -333.0 W5 W205 5¢ V+1 vK -620 -3.0
V303 6N S = 46 990 333.0 -333.0 Y5 Y205 5¢ O +1 s A -620 -3.0
X303 6N S = a4 990 333.0 -333.0 B101 B301 5¢ O +1 v2 -620 -3.0
BD304 6N S = a4 990 333.0 -333.0 D101 D301 5¢ O +1 a A -620 -3.0
D304 6N S = a7 990 333.0 -333.0 H101 H301 5# O +1 s A -620 -3.0
H304 6N S = v8 990 333.0 -333.0 N101 N301 5¢ O +1 s A -620 -3.0
J304 6N S = 8 990 333.0 -333.0 R101 R301 5¢ V +1 a2 -620 -3.0

L304 6N S= a4 990 333.0 -333.0 B102 B302 5¢ V +1 a7 -620 -3.0
T304 6N S = a4 990 333.0 -333.0 BB102 BB302 5# O +1 v2 -620 -3.0
X304 6NN = *T 990 333.0 -333.0 R102 R302 5¢ O +1 v2 -620 -3.0
B305 6N S = 3 990 333.0 -333.0 V102 V302 5¢ V+1 &T -620 -3.0

BB305 6N S = v8 990 333.0 -333.0 7102 7302 5¢ V+1 &T -620 -3.0
D305 6N S = v3 990 333.0 -333.0 D103 D303 5¢ V +1 vK -620 -3.0

L305 6N S = 49 990 333.0 -333.0( BD104 BD304 5¢ O +1 v2 -620 -3.0
N305 6N S = a5 990 333.0 -333.0 R104 R304 5¢ O +1 s A -620 -3.0
P305 6N S = +4 990 333.0 -333.0 B105 B305 5¢ V +1 &T -620 -3.0
R305 6N S = 2 990 333.0 -333.0 BB105 BB305 5# V +1 vQ -620 -3.0
T305 6N S = ¢2 990 333.0 -333.0( BD105 BD305 5¢ O +1 v2 -620 -3.0
Z305 6N S = a5 990 333.0 -333.0 R105 R305 5¢ O +1 a2 -620 -3.0

1201 6¥ N = *T 980 317.0 -317.0 BC1 BC201 3N O +1 v2 -630 -42.0
K202 6v S= a4 980 317.0 -317.0 13 1203 3N O +2 43 -660 -132.0
W202 6v S= 46 980 317.0 -317.0 G4 G204 3N O +2 a5 -660 -132.0
E203 6v N = &4 980 317.0 -317.0 K5 K205 3N O +2 46 -660 -132.0

BA204 6v S = a7 980 317.0 -317.0 M5 M205 3N O +2 v2 -660 -132.0

1204 6v N = *T 980 317.0 -317.0( BD101 BD301 3N O +2 3 -660 -132.0
C205 6v S= a4 980 317.0 -317.0 X103 X303 3N O +2 v2 -660 -132.0
E205 6v S= v8 980 317.0 -317.0 N105 N305 3N O +2 43 -660 -132.0
S205 6v N = *T 980 317.0 -317.0 V105 V305 3N O +3 3 -690 -243.0
B301 6v S= 46 980 317.0 -317.0 14 1204 5&D O = s A -750 -414.0
V301 6v N= *A 980 317.0 -317.0 P104 P304 54DV = vK -750 -414.0
J303 6v N = *T 980 317.0 -317.0 wi W201 4vDN-3 2 -800 -581.0
Z303 6v S= &7 980 317.0 -317.0 A2 A202 44D S-3 *A -800 -581.0
N304 6v N= A 980 317.0 -317.0 Cc2 C202 54D S -3 &7 -800 -581.0
V305 6v S= 46 980 317.0 -317.0 BC3 BC203 54DS-3 &7 -800 -581.0
0201 6% S= v8 920 64.0 -64.0 E3 E203 44D S -3 *A -800 -581.0
C202 6# N = 4Q 920 64.0 -64.0 w3 W203 44D S -3 &5 -800 -581.0

1202 6% N = *T 920 64.0 -64.0 04 0204 5vDN-3 +K -800 -581.0
Y202 6% S= 49 920 64.0 -64.0 S4 S204 64D S -3 *2 -800 -581.0
W203 6# S = a4 920 64.0 -64.0 C5 C205 5vDN-3 ¢2 -800 -581.0
M205 6# N = 46 920 64.0 -64.0 S5 S205 44D S-3 &T -800 -581.0
U205 6# S = a4 920 64.0 -64.0 L101 L301 54D S -3 *A -800 -581.0
L301 6¢ S= &7 920 64.0 -64.0 P101 P301 54D S -3 &7 -800 -581.0
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Z301 6% N = +Q 920 64.0 -64.0 T101 T301 54D S -3 *A -800 -581.0 581.0
F302 6% S = v8 920 64.0 -64.0 V101 V301 54D S-3 &7 -800 -581.0 581.0
7302 6% N = *T 920 64.0 -64.0 H102 H302 54D S -3 ¢ A -800 -581.0 581.0
B303 6# N = +9 920 64.0 -64.0 X102 X302 54DS-3 &7 -800 -581.0 581.0
P303 6# S = *4 920 64.0 -64.0 B103 B303 54D S -3 *A -800 -581.0 581.0
BC202 3N S +4 a4 520 -1158.0 1158.0 F103 F303 4vDN -3 2 -800 -581.0 581.0
L302 3NS+4 43 520 -1158.0 1158.0 N104 N304 54D S -3 &7 -800 -581.0 581.0
C201 4N S +2 &7 490 -1286.0 1286.0 V104 V304 4vyD N -3 +5 -800 -581.0 581.0
Q202 3N S +3 a5 490 -1286.0 1286.0 7104 Z304 44D S -3 vA -800 -581.0 581.0
A203 3N S +3 a5 490 -1286.0 1286.0 J105 J305 4vDN -3 2 -800 -581.0 581.0
K203 3N S +3 a4 490 -1286.0 1286.0 P105 P305 54D S -3 *A -800 -581.0 581.0
Y204 3N S +3 v8 490 -1286.0 1286.0 L105 L305 54DO+1 v2 -950 -969.0 969.0
T302 3NN +3 a4 490 -1286.0 1286.0 K1 K201 54D S -4 *A -1100 -1295.0 1295.0
L303 3N S +3 *4 490 -1286.0 1286.0 Ul U201 54DS-4 &7 -1100 -1295.0 1295.0
T303 3N S +3 v8 490 -1286.0 1286.0 M2 M202 54D S -4 *6 -1100 -1295.0 1295.0
B304 3N S +3 a4 490 -1286.0 1286.0 Q4 Q204 4vDN-4 s K -1100 -1295.0 1295.0
BB304 3N S +3 a5 490 -1286.0 1286.0 L102 L302 6vyD N -4 ¢2 -1100 -1295.0 1295.0
F304 3N S +3 v8 490 -1286.0 1286.0 L103 L303 54D S -4 vA -1100 -1295.0 1295.0
P304 3N S +3 a4 490 -1286.0 1286.0 F105 F305 54D S -4 *A -1100 -1295.0 1295.0
R304 3NN +3 ¢2 490 -1286.0 1286.0 S3 S203 6¢ V= vK -1370 -1743.0 1743.0
H305 3N S +3 LY 490 -1286.0 1286.0 K4 K204 64 V= vK -1370 -1743.0 1743.0
J305 3N S +3 *4 490 -1286.0 1286.0 A5 A205 6% O = s A -1370 -1743.0 1743.0
X305 3N S +3 a5 490 -1286.0 1286.0 BC5 BC205 6# O = s A -1370 -1743.0 1743.0
BC201 4v S +2 *4 480 -1302.0 1302.0 BB101 BB301 6# O = s A -1370 -1743.0 1743.0
G201 4v S +2 46 480 -1302.0 1302.0 F101 F301 6# O = v2 -1370 -1743.0 1743.0
G204 5v N+1 A 480 -1302.0 1302.0 | BD102 BD302 6%V = v2 -1370 -1743.0 1743.0
U204 4v S +2 *T 480 -1302.0 1302.0 F102 F302 6# O = v2 -1370 -1743.0 1743.0
H301 4v N +2 *T 480 -1302.0 1302.0 H103 H303 6# O = s A -1370 -1743.0 1743.0
V304 5v S+1 A 480 -1302.0 1302.0 V103 V303 6¢ V= vK -1370 -1743.0 1743.0
F305 4v N +2 T 480 -1302.0 1302.0 7103 Z303 6% O = s A -1370 -1743.0 1743.0
0202 3# N +3 v6 170 -1765.0 1765.0 BB104 BB304 6# O = v2 -1370 -1743.0 1743.0
K205 6N S -2 43 -100 -1999.0 1999.0 Q1 Q201 5vDN-5 +6 -1400 -1807.0 1807.0
0205 64 S-2 a4 -100 -1999.0 1999.0 T103 T303 64D O = v2 -1540 -1961.0 1961.0
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